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sex : 1: %lU

2: MGJ

age : i n t e g e r  2 Gn

per : 1: ‘Sal.

2 :  -Iha,

3 :  6QU+-
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type .__  . . . . . . . .

var . . . . . . . . .
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task1  : decisl[l,l ] :=: decisl[l l]+l

t a s k 2  :  decisl[l,Z]  := decisl[l,Z]+l

t a s k 3  :  decisl[l,3]  : =  decisl[l,3]+1

t a s k 4  :  decisl[2,1]  := decisl[2,1]+1

t a s k 5  :  decisl[2,2]  := decisl[Z 2]+1

taskR  : decis1[2,3]  :==  decisl[2 3]+1

end

readln(age,per)

/
decisl[sex,per]:=  decisl[sex,per]+l
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2. reduced representation form

1 J 1

2 1 3
A 4x3 5 1 7

5 5 -22




